
Lil’ Rider™ 

Ride‐on vehicles 

Instruction Manual 

Please read these instructions carefully before operating 

Children under the age of 3 are not allowed to ride this toy 

SPECIFICATIONS: 

Battery: 6V, 4.5AH 

Suitable age: 3‐8 years old 

Maximum Weight: 30kgs 

Speed: 3.5‐4km/h 

Dimensions: 88x39x58cm 

Charger: Input‐ 110V/220V 50‐60HZ     Output‐ DC 6V/500MA 

Battery durative time: 1‐2 hours for fully charge (8‐12 hours) 

FUNCTION AND OPERATION: 

1. Stepping on the pedal, the motorcycle will move. And it will stop when the pedal is 

released.  

2. Front/back moving control: push the forward switch, the motorcycle will move 

forward. Push the backward switch, the motorcycle will move backwards. When the 

motorcycle moves, the front and back light will shine. 

3. The car has music function, the music will be played when you turn on the power 

switch and press the music button. 

MALFUNCTION ELIMINATE: 

Malfunction: Vehicle could not move 

Check and Eliminate: 

1. Take off the seat and check whether the fuse is damaged, if so change the fuse. The 

fuse is installed in the fuse box on the outside of the battery. 

2. Check whether the battery wires are connected properly. 



3. Check whether the motor or gear box is damaged. 

4. Check whether the car is short circuit or the cable is of connection. 

Malfunction: Vehicle is moving slow 

Check and Eliminate: 

1. Check whether the battery is fully charged. 

2. Check whether the gear box is damaged. 

Malfunction: Vehicle cannot be charged 

Check and Eliminate: 

1. Check whether the fuse is damaged. 

2. Check whether the charger or battery is damaged. 

Malfunction: Unusual sound 

Check and Eliminate: 

1. Gear box may be damaged. 

FUSE REPLACEMENT: 

It can only use 15A fuse to change the damaged one. Short circuit is forbidden. Fire hazard! The 

fuse cannot be renewed.  

LIST OF PARTS PACKED 

1. Above cover of tool box 

2. Below cover of tool box 

3. Thin axle connecting tool box cover 

4. Seat 

5. Support of tool box 

6. Rear wheel cover ‐2 

7. Bolt ‐2 

8. Gasket ‐10 

9. Rear wheel ‐2 

10. Plastic sleeve pipe 

11. Motor 

12. The rear shaft 

13. Bodywork 



14. Panel board 

15. Windshield 

16. Mirror ‐2 

17. Car head 

18. Front fork 

19. Front fender  

20. Iron buckle 

21. Front wheel 

22. Front wheel shaft 

INSTALLATION 

1. First step: fix the rear shaft to bodywork. Second step: on the left connect one wheel to 

the rear shaft. Pay attention to use iron gaskets in order to fasten the gap. Then use the 

iron bolt to fix it. And use the wheel cover in the wheels. On the right, first connect the 

electric plug right. Then connect the motor, plastic sleeve pipe, wheel in turn to the rear 

shaft. Pay attention to the protuberant part of the rear right wheel should put together 

with the plastic sleeve pipe. Then use the iron bolt to fix it and use the wheel cover put 

on the wheel. Pay attention to use the iron gaskets in order to fasten the gap. 

2. Firstly, fix the support of the tool boxes to the body with two screws (M4*14). Then use 

the thin axle connect the above cover and the below cover of the tool box. Finally, use 

for screws (M4*14) to fix the box on the support.  

3. Connect the battery wires, red to red and black to black.  

4. Fix windshield to car head with five screws (M3*10). Fix mirrors to car head with four 

screws (M3*10). 

5. Fix front fork with front fender and front wheel. Then use the iron buckles to fix it. 

6. Fix the car head to the front fork group with four screws (M4*14). 

7. Connect the panel board to the head with bodywork. Put the seat on the bodywork with 

screws.  

WARNING 

POINT OF ATTENTION FOR CHARGING: 

1. When operating for the first time please open the seat and connect the power wires 

with the battery, red to red and black to black, then cover them with the cover. 

Please do not connect them the wrong way or it will cause a short circuit or 

malfunction. 

2. Charging socket is in the front body. Continuous charging time should not exceed 15 

hours. 



3. Please charge the car when its speed becomes slow. It will do harm to the battery if 

you do not charge the car in time. 

4. If storing or will not use it for a long time, please charge the battery fully. Charge 

every 2 months in order to ensure the service life time of the battery. 

5. The charger and battery will have thermal appearance during charging which is 

normal. 

6. A useless battery could only be put away by an adult. Do not burn or disassemble it. 

Please contact the local waste company to deal with it. 

7. You can only use or replace the charger or battery which is stipulated by the 

manufacturer. 

WARNING 

POINTS OF ATTENTION: 

1. This car must be installed and checked by an adult before putting to use.  

2. This car should be used under the guidance of an adult. This car is not a traffic tool, 

strictly forbidden to operate it on the street, road, pond, pavement, steps, slopes, or 

near vehicles. The driver should always wear shoes. The number of drivers should only 

be one. 

3. Please do not let the any child under the age of 3 operate the car. 

4. Please check the car before using it every time in order to avoid the chance of injury. 

5. Please teach the child how to operate the car when the child first operates it. 

6. Please teach the child how to use the pedal and switches and how to deal with the car 

when the car is stopped by barriers. 

7. Please make sure the driver seat in the car is comfortable before driving it. 

8. Please do not let the other children go near the car when it is moving. It is dangerous! 

9. It is forbidden to charge the non‐rechargeable battery. 

10. Please do not mix or use the new battery with the old one. 

11. Use batteries which are the same model as the standard one in which it came with. 

12. Battery should be put in the battery box in the right position. 

13. Please remove the used battery out of the car and deal with it in the correct way. 

14. Please do not mix or use the alkaline, standard (carbon‐zinc) and rechargeable batteries. 

15. Please do not operate this car outside when it is raining or snowing. 

16. Please turn off the power switch when the car will not be in use or charging. Children 

can only operate the vehicle with adult supervision. 

17. Please clean this car with a dry cloth, not fresh water. 

18. The electric cable, plug and other parts of the charger should be checked frequently. If 

anything is damaged please repair it before using.  



19. The charger is not a toy; please do not let children play with it. 

20. The battery should be charged by an adult. Do not let children operate it. 

21. Please do not change the forward and backward switch when it moves. The forward and 

backward switch should be changed when it has stopped. Otherwise the incorrect 

operating will do harm to the gear box and motor. 

22. Please put the car in a well ventilated place when the car is charging. 

23. It is forbidden to short circuit the battery. Fire hazard! 

24. Please do not let the children play with the plastic bags which are a choking hazard. 

 


